Potencias de 10 (G)

Calcule los siguientes productos y cocientes.

9.5436 +-0.001

6.4491 x 0.001

9.0583 x 0.1

1.3318 x 0.01

5.0139-+-0.01

1.9388 x 0.001

3.4637 x 0.1

7.8229 % 0.01

1.6425+-0.01

5.8126 +0.01

3.648 x 0.001

6.3078 - 0.01

8.2997 x 0.1

9.6222 % 0.01

3.8147 x 0.01

2.2344 x 0.1

7.0755 x 0.01

5.6866 0.1

7.3673 x 0.1

9.5655 x 0.01
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Potencias de 10 (G) Respuestas

Calcule los siguientes productos y cocientes.

9.5436 +-0.001
9,543.6

6.4491 x 0.001
0.0064491
9.0583 x 0.1
0.90583
1.3318 x 0.01
0.013318
5.0139+-0.01
501.39
1.9388 x 0.001
0.0019388
3.4637 x 0.1
0.34637
7.8229 % 0.01
0.078229
1.6425+0.01
164.25
5.8126 +0.01
581.26

3.648 x 0.001
0.003648
6.3078 = 0.01
630.78
8.2997 x 0.1
0.82997
9.6222 % 0.01
0.096222
3.8147 x 0.01
0.038147
2.2344 x 0.1
0.22344
7.0755 x 0.01
0.070755
5.6866 0.1
56.866
7.3673 x 0.1
0.73673
9.5655 x 0.01
0.095655
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